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class REINFORCE(): 
  ...    
  def reset(self): 
    self.history = [] 
       
  def step(self, s, a, rn): 
    self.history.append((s, a, rn)) 
       
  def flush(self):        
    for (s, a, rn) in self.history: 
      self.update(s, a, self.history) 

opt = REINFORCE(agt) 
 
for episode in range(N_EPISODE): 
    env.reset()                     #  
    opt.reset()                     #  
    while not env.is_terminated():  #  
        s = env.get_state() 
        a = agt.play(s) 
        rn = env.step(a) 
        opt.step(s, a, rn)          #  
    opt.flush()                     #  
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class MonteCarlo(): 
  ...    
  def reset(self): 
    self.history = [] 
       
  def step(self, s, a, rn): 
    self.history.append((s, a, rn)) 
       
  def flush(self):        
    for (s, a, rn) in self.history: 
      self.update(s, a, self.history) 

opt = MonteCarlo(agt) 
 
for episode in range(N_EPISODE): 
    env.reset()                     #  
    opt.reset()                     #  
    while not env.is_terminated():  #  
        s = env.get_state() 
        a = agt.play(s) 
        rn = env.step(a) 
        opt.step(s, a, rn)          #  
    opt.flush()                     #  
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class ActorCritic(): 
  ...    
  def reset(self): 
    self.t = 0 
       
  def step(self, s, a, rn, sn): 
    self.update(s, a, rn, sn) 
    self.t += 1 
       
  def flush(self):        
    pass 

opt = ActorCritic(agt) 
 
for episode in range(N_EPISODE): 
    env.reset()                     #  
    opt.reset()                     # 
    while not env.is_terminated():  # 
        s = env.get_state()
        a = agt.play(s) 
        rn = env.step(a) 
        opt.step(s, a, rn)          # TD  
    opt.flush()                     #  
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Google colab

https://github.com/AkinoriTanaka-phys/gridworld_rl

https://colab.research.google.com/github/AkinoriTanaka-
phys/deeplearning_notes/blob/master/appendix/rl_tutorial.ipynb

https://github.com/AkinoriTanaka-phys/gridworld_rl
https://colab.research.google.com/github/AkinoriTanaka-phys/deeplearning_notes/blob/master/appendix/rl_tutorial.ipynb


1.    
  

 
 

2. Q

  

3. 

 

s https://ja.wikipedia.org/wiki/

(r  +t+1 … )
(r  +t+1 … ) − v(s  )t

https://ja.wikipedia.org/wiki/%E9%83%A8%E5%88%86%E8%A6%B3%E6%B8%AC%E3%83%9E%E3%83%AB%E3%82%B3%E3%83%95%E6%B1%BA%E5%AE%9A%E9%81%8E%E7%A8%8B

